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Directions: Use the clues to solve each puzzle. To find the correct number, cross out the answer to each clue in
the square that is accounted for. Your answer will be the number that is left.

10 15 20 25 30 35 40 45 50

2) It’'snot 3x2 or 4x3 1) It’snot 2x9 or2x6

It’snot 2x8 or3x5 It’s not 2 x 10 or3x6

It’snot 3x3 or2x7 It’snot3x5 or3x4

It’snot2x5 or2x8 It’snot3x 7 or2x8

What is the number? What is the number?

4) I’snot 4x5 or4x4 It’snot 3x9 or3x10

It’snot 5x5 ordxo It’snot 2x12 or3x6

It’snot2x9 or3x10 It’snot 6X6 orl4x?2

It’snot 3x5 or3x7 I’snot 4x10 or5x10

What is the number? What is the number?



https://youtu.be/c8TQ8lzzu6U

